Pit Posse Motorsports

A eo=CoM 3901 48th Ave. N
PO Saint Petersburg, FL 33714
[ MOTORSPORTS"  pg66.44POSSE F:727.520.1558

www.pitposse.com

Pit Posse Fold Up Tire Rack Instructions ~ P/N 576

Tools required for assembly:
10mm, 13mm, 2 -14mm, 2 -17mm wrench or sockets

Hardware included:

4 - plastic caps

2 -4" x 3/8” bolts -
/)

4 - 3" x 7/16” bolts Abedy
4 -11/2" x 1/4” bolts ll\w @
4 -1 1/2" x 3/8" bolts W o

8 - mounting screws

2 - lynch pins for safety bar l&g& | yﬁ
2 - retainer snap pins TERL g

1) Press 4 plastic plugs into top and bottom of back tubes.

2) Assemble the front spar to side arms using the 3” long bolts.
Orient as shown in diagram with back tubes on top.
(notice there are 2 bolts each holding the back tube to side spar
the middle one is for shipping purposes and will be removed)

3) Assemble center spar to side arms using 1 1/2“x3/8” bolts
(2” bolts sometimes substituted). Using one of your tires
will help you best locate center spar. With tire standing on
the same flat surface as the rack being assembled, both the
front and center spar should nearly be touching the tire.
This will allow the tires to slightly protrude below the rack when
fully assembled and installed.

4) Assemble support bars using 4"x3/8” bolts with 3 washers betweeen
support bars and back tubes. Please note that the mounting
holes for support bars are different on each end. The holes
located closest to the edge of material attach to back tube with
other end attaching to side arms. This will allow proper clearance
from wall when rack is closed. Side arms are attached to support
using retainer snap pins.

5) Assemble safety bar brackets to outsides of support bars using
2-11/2”x 1/4” bolts each. There are multiple options for mounting,
as well as the variety of holes for the safety bar in order to
locate it through the center of your tires.






